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Guidelines for Kapildhara Impact Assessment Study

The study is to be carried out in all fifty districts of Madhya Pradesh. The approved questionnaire is to be
used for the purpose of data collection from the beneficiaries. The enumerator (the person who collects
data) should be neutral and not biased in the process. The methods for sampling and data coilection are
explained in this document.

Sampling — Systematic random Sampling with standard size of 20% of total beneficiaries under
Kapildhara Scheme.

How to select the sample: Prepare a database of all the Kapildhara beneficiarics in MS Excel. Calculate
the percentage of representation of various castes in the database and the same should reflect in the
sample selected. -

For example, we have a database of 100 beneficiaries of which 50 are ST, 30 are SC and 20 from other
castes, then if we are taking a sample of 20% then it should reflect 50% ST, 30% SC and 20% other
castes. i.e. we have a sample of 20 beneficiaries. then 10 should be ST, 6 should be SC and 4 should be
from other castes.

EST
B5(

0thers |

Total beneficiaries Selected Sample (20%)

This means that we would have to prepare lists of beneficiaries, caste wise and select beneficiaries
according to-the desired/calculated sample size in each category.

For example, your district has 100 kapildhara beneficiaries of which 50 ave ST, 30 are SC and 20 are
others. So the representative sample should have 20 beneficiaries in total in which you need to have
representation of all the categories in the exact same proportion as in the total population. (refer the
diagrams). We have the database of all the beneficiaries, categorise the list according to the caste. Then
we nrust calcuite the sample interval which would be like:

Sample size = 20; 50% ST=10



Sample interval = Total ST population/ST sample population; 50/10

Now you can randomly select anv number between 1 to 5; for example 2, now you select the 2 person in

the list as the first sample, then every fifth person after him ie. 27 7" 12" [7th and so on.
Follow the same process for selecting samples from SC as well as Others.

SC=30% of 20=6 ; sample interval = 30/6=5. Then the mnzple should be selected like any person
between 1-5 in the S‘C list would be the first person, 3", 8" 13" 18" and so on.

If the sample interval is 10, select a number randomly between I-10; if 20, then between 1-20 and 5o on.

Data Collection:

Once the sample selection is done, the deputed enumerators can go to the beneficiaries selected through
the above process. The enumerators should be very clear about each question and should use their skills
in elicit responses from the beneficiary. Some questions may not get proper responses like if we ask the
beneficiary about their income and expenditure or the increase in production etc they might not give a
clear answer, Then the enumerator should be skilled enough to put tiie question in a different way. For
example, if we want to know about the change in production, pre and post Kapildhara, the enumerator
can put the question like how many sacks of crops did they sell, used for household purposes etc. For
getting answers to some questions likke construction of recharge pit, its functionality ete, the enumerator
should go to the field and see for himself in addition to the responses from the beneficiary.

Make sure that all questions are asked and recorded properly. The entries in the formats should be clear
and legible. Use codes wherever it’s given.

In case of queries, you can always revert back to PMRDFs, Shahdol at Rajesh Singh
rajeshsingh11041986(@gmail.com (8602224111) & Rejani Pavithran rejani.pavithran@email.com
(9826114636) '




